1. Doplň výraz do zátvorky: 
a) 9  12a + 6b = 	3. (                  )       
b) 4b + 16 – 20c = 	4. (                   )     
c) 10c  15d  20 =  5. (                   )    

2. Vyjmi pred zátvorku najväčšieho spoločného deliteľa všetkých členov vo výraze:

a) 40a  60 + 20b + 100c		___________________________________		
b) 18 + 45x  36y			___________________________________	
c) 40x + 16y  24			___________________________________
d) 5a + 15b + 20c + 25d  		___________________________________
e)  49  28d			___________________________________		
f) 72x  18y + 54			___________________________________
g) 48  6a + 18b			___________________________________
h) 22a  66 + 33b			___________________________________
i) 5c  10d			___________________________________	
j) 14a  21b  7c			___________________________________	
k) [bookmark: _GoBack]18x + 9y  27			___________________________________
l) 24x  36y + 30			___________________________________


